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Write an acid/base reaction and label its paris.

Write the dissociation for HF and label the acid, base, conjugate acid, and conjugate base.
Convert between molarity, pH, and pOH

Find the pH of a 0.045 M solution of Al(OH);

Find the molarity of a solution of KOH with a pH of 12.3

Find the pOH of a 0.02 M solution of HNO;
Use Ka or Kb to find equilibrium concentrations

What is the original molarity of a solution of formic acid {HCOOH) whose pH is 3.26 at
equilibrium?

Find pH given Ka or Kb
Find the pH of a 0.20 M solution of benzoic acid,CsHsCOOH, Ka=6.46 x 10°

Aspirin is o weak organic acid whose molecular formula is HC;H;0, A water solution of aspirin
is prepared by dissolving 3.60 g in one liter. The pH of this solution is 2.60. Calculate Ka for
aspirin.

Calculate the pH of a 0.10 M NaF solution (KbF=1.4 x 10%)
Identify the parts of a buffer
Can NH,Cl and NH; form a buffer?
Use Hendersen-Hasselbalch to find pH of a buffer
Find the pH of a buffer system that is 0.15 M NHx/0.35 M NH,CIl. Kb for NH; is 1.8 x 10°
Chang #20
Calculate the pH change when acid or base is added to a buffer
#12 in supplemental

Chang #17



Select an appropriate indicator for a titration o

Chang #39

Find the equivalence point of a titration curve

Determine pKa, Ka, and identify an acid from a list given a titration curve

What is the equivalence point for the titration on the left?
What is the pKa of the acid in the titration?
What is the Ka of the acid in the titration?

How would you select an indicator to signaf the end of this
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A 0.2688 g sample of a monoprotic acid neutralizes 16.4 mL of 0.08133 M KOH. Calculate the
molar mass of the acid.

A 10.0 mL solution of 0.300 M NH; is titrated with a 0.100 M HCI solution. Calculate the pH after I
the following additions of the HCI solution: a) 0.0 mL, b)10.0 mL, c}20.0 mL, d)30.0 mL, €})40.0 \\_)
miL.

Calculate the pH at the equivalence point for the following titration: 0.10 M HCOOH vs 0.10 M
NaOH.
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